C:h Identifying Y Intercept (Equations) Name:

| dentify the Y inter cept of each equation. Answers
1) Y=3xXx(X+3) 2) Y=7xX-(X-3)
1.
2.
3.
4,
3) Y=3xXx(X-3) 4) Y=X+(2x-1)
5.
6.
7.
8.
5 Y=X+3 6) Y=4xXx(Xx7)
9.
10.
7) Y=4xX-(Xx5) 8) Y=4xX+(Xx-1)
9 Y=Xx5 10) Y=5xX+(X-8)
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=3xXx(X+3) 2) Y=7xX-(X-3)
1 0
2 3
3 0
4 -2
3) Y=3xXx(X-3) 4) Y=X+(2x-1)
5 3
6 0
7 0
8 0
5 Y=X+3 6) Y=4xXx(Xx7)
9 0
10 -8
7)  Y=4xX-(Xx5) 8) Y=4xX+(Xx-1)
9) Y=Xx5 10) Y=5xX+(X-8)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

3 0 3 -8
0 0 0 -2

1) Y=3xXx(X+3) 2) Y=7xX-(X-3)
3 Y=3xXx(X-3) 4) Y=X+(2x-1)

5 Y=X+3 6) Y=4xXx(Xx7)
7) Y=4xX-(Xx5) 8) Y=4xX+(Xx-1)
9 Y=Xx5 10) Y=5xX+(X-8)

10.

M odified
[ M ath ] www.CommonCoreSheets.com 1
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C:h Identifying Y Intercept (Equations) Name:

| dentify the Y inter cept of each equation. Answers
1) Y=4xXx(Xx3) 2) Y=6xX-(Xx3)
1.
2.
3.
4,
3) Y=2xX+(Xx2) 4) Y=3xXx(X-8)
5.
6.
7.
8.
5) Y=2xX+(Xx-1) 6) Y=X+4
9.
10.
7) Y=9xX-(X+8) 8) Y=X+(9x-1)
9) Y=8xX-(Xx-1) 10) Y=X-(8x-1)

2 1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=4xXx(Xx3) 2) Y=6xX-(Xx3)
1 0
2 0
3 0
4 0
3) Y=2xX+(Xx2) 4) Y=3xXx(X-8) 0
5
6 4
7 -8
8 -9
5) Y=2xX+(Xx-1) 6) Y=X+4
9 0
10 8
7)  Y=9xX-(X+8) 8) Y=X+(9x-1)
9) Y=8xX-(Xx-1) 10) Y=X-(8x-1)

2 1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

0 0 0 0 -8
0 8 0 -9 4 1
1) Y=4xXx(Xx3) 2) Y=6xX-(Xx3) )
3.
4.
5.
3) Y=2xX+(Xx2) 4) Y=3xXx(X-8)
6.
7.
8.
9.
5) Y=2xX+(Xx-1) 6) Y=X+4
10.
7)  Y=9xX-(X+8) 8) Y=X+(9x-1)
9) Y=8xX-(Xx-1) 10) Y=X-(8%-1)
M odified 1-10 [90[80[ 70| 60|50]40[30[20[10] O |
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C:h Identifying Y Intercept (Equations) Name:

| dentify the Y inter cept of each equation. Answers
1) Y=2xX-6 2) Y=6xXx(X+9)
1.
2.
3.
4,
3) Y=3xX+2 4) Y=5xX+(Xx2)
5.
6.
7.
8.
5 Y=X-4 6) Y=2xX-(X+6)
9.
10.
7)  Y=4xX-(X-4) 8) Y=6xX+(Xx-1)
9) Y=7xX-(Xx6) 10) Y=-X

3 1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=2xX-6 2) Y=6xXx(X+9)
1 -6
2 0
3 2
4 0
3) Y=3xX+2 4) Y=5xX+(Xx2)
5 -4
6 -6
; 4
8 0
5 Y=X-4 6) Y=2xX-(X+6)
9 0
10 0
7)  Y=4xX-(X-4) 8) Y=6xX+(Xx-1)
9) Y=7xX-(Xx6) 10) Y=-X

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

4 0 -4
0 0 0

2
0

1) Y=2xX-6 2)

3) Y=3xX+2 4)

5) Y=X-4 6)

7) Y=4xX-(X-4) 8)

9) Y=7xX-(Xx6) 10)

Y =6xXx(X+9)

Y =5xX+(Xx2)

Y =2xX-(X+6)

Y =6xX+(Xx%-1)

10.

M odified
[ M ath ] www.CommonCoreSheets.com
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C:h Identifying Y Intercept (Equations) Name:

| dentify the Y inter cept of each equation. Answers
1) Y=6xX+5 2) Y=X-7
1.
2.
3.
4,
3) Y=X+6 4) Y =4xX+(Xx-1)
5.
6.
7.
8.
5) Y=6xX-(X+8) 6) Y=4xX-3
9.
10.
7) Y=X-(3x-1) 8) Y=4xX-(Xx-1)
9) Y=3xX-(Xx4) 10) Y=7xX+(Xx6)

4 1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=6xX+5 2) Y=X-7
1 S
2 -/
3 6
4 0
3) Y=X+6 4) Y =4xX+(Xx-1)
5 -8
6 -3
7 3
8 0
5) Y=6xX-(X+8) 6) Y=4xX-3
9 0
10 0
7) Y=X-(3x-1) 8) Y=4xX-(Xx-1)
9) Y=3xX-(Xx4) 10) Y=7xX+(Xx6)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 4




C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

0 0 5 -8 3
-7 0 6 0 -3 1
1) Y=6xX+5 2) Y=X-7 2
3.
4.
5.
3) Y=X+6 4) Y =4xX+(Xx-1)
6.
7.
8.
9.
5) Y=6xX-(X+8) 6) Y=4xX-3
10.
7) Y=X-(3x-1) 8) Y=4xX-(Xx-1)
9) Y=3xX-(Xx4) 10) Y=7xX+(Xx6)
M odified 1-10 [90[80[ 70| 60|50]40[30[20[10] O |
[ Math ] www.CommonCoreSheets.com 4




C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

1) Y=9xX-(X-6) 2) Y=X+(7x-1)
3) Y=7xXx5 4) Y=Xx4

5) Y=6xXx(X+2) 6) Y=X-(4x-1)
7) Y=8xXx(X-7) 8) Y=7xXx(Xx9)
9) Y=9xX-(Xx2) 10) Y=5xX+(X+4)

Answers

10.

[ M ath ] www.CommonCoreSheets.com 5
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=9xX-(X-6) 2) Y=X+(7x-1)
1 6
2 -/
3 0
4 0]
3) Y=7xXx5 4) Y=Xx4
5 0]
6 4
7 0
8 0]
5) Y=6xXx(X+2) 6) Y=X-(4x-1) 0
9
10. 4
7)  Y=8xXx(X-7) 8) Y=7xXx(Xx9)
9) Y=9xX-(Xx2) 10) Y=5xX+(X+4)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 5




C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

0 4 6 0
0 0 0 -7

1) Y=9xX-(X-6) 2) Y=X+(7x-1)
3) Y=7xXx5 4) Y=Xx4

5) Y=6xXx(X+2) 6) Y=X-(4x-1)
7) Y=8xXx(X-7) 8) Y=7xXx(Xx9)
9) Y=9xX-(Xx2) 10) Y=5xX+(X+4)

10.

M odified
[ M ath ] www.CommonCoreSheets.com 5
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C:h Identifying Y Intercept (Equations) Name:

| dentify the Y inter cept of each equation. Answers
1) Y=X-7 2) Y=6xX-(X+6)
1.
2.
3.
4,
3) Y=X-(8x-1) 4) Y=Xx9
5.
6.
7.
8.
5) Y=3xX+4 6) Y=0xX+(X+7)
9.
10.
7)  Y=3xX-(Xx4) 8) Y=5xXx8
9) Y=9xX+(X-2) 10) Y=6xXx(X+5)

6 1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=X-7 2) Y=6xX-(X+6)
1 -7
2 -6
3 8
4 0
3) Y=X-(8x-1) 4) Y=Xx9
5 4
6 o’
7 0]
8 0
5) Y=3xX+4 6) Y=9xX+(X+7) 5
9 -
10 0
7)  Y=3xX-(Xx4) 8) Y=5xXx8
9) Y=9xX+(X-2) 10) Y=6xXx(X+5)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations) Name:

| dentify the Y inter cept of each equation. Answers
7 0 4 0 -7
-6 0 8 -2 0 1.
1) Y=X-7 2) Y=6xX-(X+6) 2.
3.
4,
5.
3) Y=X-(8x-1) 4) Y=Xx9
6.
7.
8.
9.
5) Y=3xX+4 6) Y=9xX+(X+7)
10.
7)  Y=3xX-(Xx4) 8) Y=5xXx8
9) Y=9xX+(X-2) 10) Y=6xXx(X+5)

mmonCoreSheets.com
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C:h Identifying Y Intercept (Equations) Name:

| dentify the Y inter cept of each equation. Answers
1) Y=6xX+(X+2) 2) Y=-X
1.
2.
3.
4,
3) Y=Xx7 4) Y=4xXx9
5.
6.
7.
8.
5) Y=2xX-(Xx-1) 6) Y=7xX+(Xx9)
9.
10.
7)  Y=6xX+(Xx-1) 8) Y=2xXx(X+6)
9) Y=7xX+(X-6) 10) Y=3xXx(Xx8)

7 1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=6xX+(X+2) 2) Y=-X
1 2
2 0
3 0
4 0
3) Y=Xx7 4) Y=4xXx9
5 0
6 0
7 0
8 0
5) Y=2xX-(Xx-1) 6) Y=7xX+(Xx9) 6
9 -
10 0
7)  Y=6xX+(Xx-1) 8) Y=2xXx(X+6)
9) Y=7xX+(X-6) 10) Y=3xXx(Xx8)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 7




C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

0 0 0 0 0
2 -6 0 0 0 1.
1) Y=6xX+(X+2) 2) Y=X )
3.
4.
5.
3) Y=Xx7 4) Y=4xXx9
6.
7.
8.
9.
5) Y=2xX-(Xx-1) 6) Y=7xX+(Xx9)
10.
7) Y=6xX+(Xx-1) 8) Y=2xXx(X+6)
9) Y=7xX+(X-6) 10) Y=3xXx(Xx8)
M odified 1-10 [90]80[70[60|50[40[30]20[10] O |
[ Math ] www.CommonCoreSheets.com 7




C:h Identifying Y Intercept (Equations)

Name:

| dentify the Y inter cept of each equation.

1) Y=2xXx(X-5) 2) Y=5xX+2

3) Y=X-(3x-1) 4) Y=7xXx4

5) Y=9xX-6 6) Y=X+5

7)Y =4xXx(X*6) 8) Y=5xX+(X-3)
9) Y=X+(8x-1) 10) Y=4xX+(Xx-1)

Answers

10.

[ M ath ] www.CommonCoreSheets.com 8
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=2xXx(X-5) 2) Y=5xX+2
1 0
2 2
3 3
4 0]
3) Y=X-(3x-1) 4) Y=TxXx4
5 -6
6 5
7 0
8 -3
5) Y=9xX-6 6) Y=X+5
9 -8
10. 0
7) Y =4xXx(Xx6) 8) Y=5xX+(X-3)
9) Y=X+(8x-1) 10) Y=4xX+(Xx-1)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 8




C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

-3 0 5 -6 -8
3 0 0 0 2 1
1) Y=2xXx(X-5) 2) Y=5xX+2 5
3.
4.
5.
3) Y=X-(3x-1) 4) Y=7xXx4
6.
7.
8.
9.
5) Y=9xX-6 6) Y=X+5
10.
7)  Y=4xXx(Xx6) 8) Y=5xX+(X-3)
9) Y=X+(8x-1) 10) Y=4xX+(Xx-1)
M odified 1-10 [90[80[ 70| 60|50]40[30[20[10] O |
[ Math ] www.CommonCoreSheets.com 8




C:h Identifying Y Intercept (Equations)

Name:

| dentify the Y inter cept of each equation.

1) Y=9xX-(Xx6) 2) Y=TxX+2

3) Y:3XX-(X-6) 4) Y =4xX-5

5) Y=X-9 6) Y=X+(6x-1)
7)  Y=8xXx(X+9) 8) Y=2xX+(X+8)
9) Y=3xX+(Xx-1) 10) Y=3xX+(X-8)

Answers

10.

[ M ath ] www.CommonCoreSheets.com 9
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C:h Identifying Y Intercept (Equations) Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=9xX-(Xx6) 2) Y=TxX+2
1 0
2 2
3 6
4 -5
3) Y:3XX-(X-6) 4) Y =4xX-5
5 -9
6 -6
7 0
8 8
5 Y=X-9 6) Y=X+(6x-1)
9 0
10 -8
7)  Y=8xXx(X+9) 8) Y=2xX+(X+8)
9) Y=3xX+(Xx-1) 10) Y=3xX+(X-8)

1-10 {90]80|70|60[50[ 40| 30| 20| 10] O |
[ Math ] www.CommonCoreSheets.com 9




C:h Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

0 -6 2 0 8
0 -8 -9 6 -5 1
1) Y=9xX-(Xx6) 2) Y=TxX+2 5
3.
4.
5.
3) Y:3XX-(X-6) 4) Y =4xX-5
6.
7.
8.
9.
5) Y=X-9 6) Y=X+(6x-1)
10.
7)  Y=8xXx(X+9) 8) Y=2xX+(X+8)
9) Y=3xX+(Xx-1) 10) Y=3xX+(X-8)
M odified 1-10 [90[80[ 70| 60|50]40[30[20[10] O |
[ Math ] www.CommonCoreSheets.com 9




C:h Identifying Y Intercept (Equations)

Name:

| dentify the Y inter cept of each equation.

1) Y=X+9 2) Y=X+(9x-1)
3) Y=X-(9x-1) 4) Y=8xX-(Xx3)
5)  Y=7xXx(Xx9) 6) Y=7xX

7) Y=X-8 8) Y=0xX+(Xx-1)
9 Y=4xX-8 10) Y=7xX-(X+9)

Answers

10.

[ Math ] www.CommonCoreSheets.com 10
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C:h Identifying Y Intercept (Equations)

Name. Answer Key

| dentify the Y inter cept of each equation. Answers
1) Y=X+49 2) Y=X+(9%-1)

1 9

2 -9

3 9

4 0
3) Y=X-(9%-1) 4) Y=8xX-(Xx3)

5 0

6 0

7 -8

8 0
5) Y=7xXx(Xx9) 6) Y=7xX

9 -8

10. -9
7) Y=X-8 8) Y=9xX+(Xx-1)
9) Y=4xX-8 10) Y=7xX-(X+9)

1-10 90|80 | 70|60 |50]|40]30]20[10] O |
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Identifying Y Intercept (Equations)

| dentify the Y inter cept of each equation.

Answers

-9 0 9 -8 -9
0 -8 0 0 9 1
1) Y=X+9 2) Y=X+(9x-1) 5
3.
4.
5.
3) Y=X-(9%-1) 4) Y=8xX-(Xx3)
6.
7.
8.
9.
5)  Y=7xXx(Xx9) 6) Y=7xX
10.
7) Y=X-8 8) Y=9xX+(Xx-1)
9) Y=4xX-8 10) Y=7xX-(X+9)
M odified 1-10 [90]80[70[60]50[40]30[20]10] O |
[ Math ] www.CommonCoreSheets.com 10
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